S Py ] oS
IR E B | EIMRIRT | HLRIY2 | EIERI|3 | HIIRIR4 | BIIRIRSs | EISIRe | HARI|7 | HItel|s
DN 40 40 32 36 32 36 40 36 32
ol =2 7|=E | 15 15 12 13.5 13.5 12 12 13.5 13.5
At = AH = 15 13.5 13.5 12 13.5 12 12 13.5 13.5
XolsA=e | 10 9 10 8 9 9 7 10 9
ASHH 10 9 9 8 9 9 9 9 9
Al 90 86.5 76.5 77.5 77 78 80 82 77
MA ™
(EII'_;IETH;:.*EHIEI) % 765833
MIZcHstn IR
IR HIE | EIMRIRT | EERI2 | HIERIY3 | HIIRIR4 | WIIRIRS | EIISIRe | HAHRI|7 | HIteIHs
DN 40 40 36 36 36 40 40 36 36
ol =22 7|& | 15 15 13.5 13.5 13.5 13.5 15 15 13.5
At = AH = 15 13.5 12 15 15 13.5 13.5 15 15
XolsAz=e | 10 10 9 9 9 9 9 10 9
ASHH 10 10 9 9 9 9 10 9 10
A 90 88.5 79.5 82.5 82.5 85 87.5 85 83.5
i 90 84.3333
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